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2 Blender + Phyton
2.1 Python OOOOOOOO0O Blender D O0OOO

test.py 0 Python DO OO OOO0OO0OOOOOOO blender 00000

blender -P test.py
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221 0O00OO00OO0OOO0O import

import os # 00000000 O0OO0O0OO0OOOODOOOO
import bpy # Python U0 Blender DO UODOOODOODODOODO
import math # U000 0O0O0O0O0O0OOODOOO0O
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# reset objects
bpy.ops.object.select_all(action=’SELECT’)
bpy.ops.object.delete(True)

2.2.3 World 00O

# world sestting

bpy.context.scene.world.node_tree.nodes["Background"] .inputs["Color"] .default_value = (1,1,1,1)
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scene = bpy.context.scene

1920 # 0000
1080 # OOO

scene.render.resolution_percentage = 100 # OO0

scene.render.resolution_x

scene.render.resolution_y
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# camera add
bpy.ops.object.camera_add(location=(20.0,-9.0,12.0))
bpy.data.objects[’Camera’] .rotation_euler = (math.pi*60/180, O, math.pi*65/180)
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# light add
bpy.ops.object.light_add(location=(0.0,0.0,2.0))
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# material add

materials = []
materials.append(bpy.data.materials.new(’Color0’))
materials[0] .diffuse_color = (0,0,1,1)
materials.append(bpy.data.materials.new(’Colorl’))
materials[1] .diffuse_color = (0,1,0,1)
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e [100

bpy.ops.mesh.primitive_cube_add(location=(0, 0, -0.5)) # OO0OOOOOOOOOODO
bpy.ops.transform.resize(value=(5.0,2.0,0.5)) # 0J0000oOooooo
bpy.context.object.data.materials.append(materials[0]) # DODOOOOODO0O
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bpy.ops.mesh.primitive_cylinder_add(location=(0,0,0),radius=0.5,depth=1.0)
bpy.context.object.data.materials.append(materials[0])
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bpy.ops.mesh.primitive_cylinder_add(location=(0,0,0),radius=0.5,depth=0.3,vertices=6)
bpy.context.object.data.materials.append(materials[0])

e 100
goboobooooboobooxbooboooob 1oo000b0ooboboobobooob 1o0osbbOOOOn
obooobOOo 00000 o000000000O0O00DOO0O0OC0O0OO0DOOOOO

nx = 20

Lx = 10.0;
[
[

for i in range (0, nx+1):

verts

faces

x = Lx/nx*i-5
y = -0.5+math.cos(math.pi*i/nx)
z =20.0

verts.append((x,y,z))
y += 1.0
verts.append ((x,y,2))
z += 0.5
verts.append ((x,y,2))
y -=1.0
verts.append ((x,y,2))

for i in range (0, nx): faces.append((4*i+1,4*i+5,4xi+4,4%i+0))
for i in range (0, nx): faces.append((4*i+1,4*i+2,4%i+6,4%i+5))
for i in range (0, nx): faces.append((4*i+2,4%i+3,4*i+7,4%i+6))
for i in range (0, nx): faces.append((4*i+0,4*i+4,4*i+7,4%i+3))
faces.append((0,3,2,1))

faces.append((4*nx,4*nx+1,4*nx+2,4*nx+3))

mesh = bpy.data.meshes.new("Guide")

object = bpy.data.objects.new("Guide", mesh)

object.location = (0,0,0)

bpy.context.scene.collection.objects.link(object)

mesh.from_pydata(verts, []1,faces)




mesh.update(calc_edges=True)

mesh.materials.append(materials[1])
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# 00000

def Boolean_DIFF(obj_a, obj_b):
boolean = obj_a.modifiers.new(’My_Bool’,’BOOLEAN’)
boolean.operation = ’DIFFERENCE’
boolean.object = obj_b
bpy.context.view_layer.objects.active = obj_a
bpy.ops.object.modifier_apply(apply_as=’DATA’, modifier="My_Bool")
bpy.data.objects.remove (obj_b)

# 0000000

bpy.ops.mesh.primitive_cylinder_add(location=(0,0,0) ,radius=0.5,depth=0.3,vertices=6)
bpy.context.object.data.materials.append(materials[0])

film_obj = bpy.context.object

# 00000

bpy.ops.mesh.primitive_cylinder_add(location=(0,0,0) ,radius=0.2,depth=0.4)

cyl_obj = bpy.context.object

# 00000

Boolean DIFF(film_obj, cyl_obj)
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# 0000000000

def Boolean_UNION(obj_a, obj_b):
boolean = obj_a.modifiers.new(’My_Bool’,’BOOLEAN’)
boolean.operation = ’UNION’
boolean.object = obj_b
bpy.context.view_layer.objects.active = obj_a
bpy.ops.object.modifier_apply(apply_as=’DATA’, modifier="My_Bool")
bpy.data.objects.remove (obj_b)

# 00

bpy.ops.mesh.primitive_cube_add(location=(0, 0, -0.5))

bpy.ops.transform.resize(value=(5.0,2.0,0.5))




bpy.context.object.data.materials.append(materials[0])
# 00O

bpy.ops.mesh.primitive_cube_add(location=(0, 0, 0.25))
bpy.ops.transform.resize(value=(5.0,2.0,0.25))
bpy.context.object.data.materials.append(materials[1])
rib_obj = bpy.context.object

# 0000

bpy.ops.mesh.primitive_cube_add(location=(0, 0, 0.75))
bpy.ops.transform.resize(value=(5.0,0.5,0.25))
bpy.context.object.data.materials.append(materials[1])
film_obj = bpy.context.object

# 0000000000

Boolean_UNION(rib_obj, film_obj)
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aa = 1.0
rr = 0.3*aa
ww = aa*math.sqrt(3.0)
WW = 10*aa*math.sqrt(3.0)/2
tt = 0.4*aa
# 000000
bpy.ops.mesh.primitive_cube_add(location=(0, 0, 0))
bpy.ops.transform.resize(value=(5.0%aa,WW/2,tt/2))
bpy.context.object.data.materials.append(materials[0])
slab_obj = bpy.context.object
# 00000
bpy.ops.mesh.primitive_cube_add(location=(0, 0, 0))
bpy.ops.transform.resize(value=(8.0%aa,ww/2,tt/2-0.001))
bpy.context.object.data.materials.append(materials[0])
obj = bpy.context.object
# 00000
Boolean_UNION(slab_obj, obj)
for j in range (-5, 6):

y = j*aa*math.sqrt(3.0)/2




if j 1= 0:
if j%2 == 0: nm

else: nm

0

for i in range (-5, 6-nm):

if j%2 == 0:

else:

x = (i+0.5)*aa

X = i*aa

bpy.ops.mesh.primitive_cylinder_add(location=(x,y,0) ,radius=rr,depth=2xtt,vert

obj = bpy.context.object

# 00000

Boolean DIFF(slab_obj, obj)

ices=35)
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